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2023-2022 cuallotall (guail yid| Juitd] - JSutakl) 3o \Gii Gt

6 35S ez e &5 Bl SligSaondl - J S Bazsll—

(552 Vs 10150 2 (1505 ) | pmis(lier 1} lyonpJlew 2 ¥ gl L
~ \ N 1 ~—— N X

S el o gl g AT Sy LA ey ikl 2t el
Explain why carbon forms many compounds studant ta 41

Which of the following is not a reason for the ability of Oe Jils dae 0085 e (505800 5508 ‘;,.@,:‘L, Laa .h_;l
carbon to form so many different organic compounds? FAabA o) A pnall CLE Ll

Each carbon atom can form four covalenl bonds b3 xa daan bl Jadlg <‘.1'JE 0388 o e 50 UK ke

with atoms of carbon or with other elements Al alie ga o gal ppg

Carbon bonding siles allow the formalion of g\, dpalal Ly oSy G9a)Sl bl adlsn maus

single, double and triple bonds AN,

Carbon atom has three electrons in the outer Bl (giea A Dby S ADS e (5080 533 (gRas

————
energy level @JL:.N
Carbon atoms can form both straight chains, e yiia (gyaly Aaiioa Judlu 053 o Gepsh 3 aslia

O D

branched chains,and rings too Lol clala g



Akram Elbehiri
Pencil


0505134521 sl a i /o

Akramelbehiri.com

2

I Juadl) adiia e AU plaS A md Zigal

el S g ey Ayl Sy S ) G e

o e o
§ JLEN 4 RN A8 Ly e

Distinguish between the saturated and the unsaturated hydrocarbons

student textbook+ fiqure 5§

~
In the following diagrams which of the following aals 8 g 8y pu oLl Y1 B L Laa gl
hydrocarbons are unsaturated? (L/ —}L "L
s ] s i M .
befors adding ¥hes aing beloae sddeng o adding :r';:m *:;fl;-m
".:';‘:H‘l e pocur
A -..JI.E.H' A
e aromne
Broeming
E”
/
Only B Lii B (a
Only D kié p (b
CandD DsC @“- Ey
B,CandD DsCsB (g
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243-244

Describe the process wsed to separate petroleom compounds by explaining the physical property used during the process sant taxtt + fiqures 6 and 7

Fractions of the crude oil are separated in Lelsal e & gasall B33l #5 A LA il el Jad A

L:.x\ Sl e
—

a fractionating tower shown in the figure below.

Which of the following statements is correct?

prrgp

The hydrocarbons with much lower boiling points

condense on the bottom plates

The hydrocarbons with high boiling points

condense at the top of the tower

The hydrocarbons with larger carbon chains

condense at the bottom of the tower

The hydrocarbons with smaller carbon chains

condense on the bottom plates

SV Ll Sl se il lig Sy el CiST

le cilagll Lle Uil
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Tdentily general lormiali, moleoular formulia, strocducal formola aod fendional group for different Bmilies of organic
conm pounds induding alcohels, ethers, carbanyl compounids containing mitvegen [anines aod amides)

student textbook+ table 1

Regarding the ways of representing the organic 4_.L s gl eolaaf Jgandl A gl G b Bl Bl Ld
compound in the table below, which of the following is ¢
=
correct?
H
|
H—C—H CH,
H
3 2 1
Method 2 is called the chemical formula and Jial Ayl Lo *"-:‘S @’9@“‘-‘*“‘” u-““-‘ 2 Ai:.,-L.I'I
is the simplest way lo represent organic guianll (Sall O A
compound
Method 1 is called the structural formula and 3l Lyl mag o N Apall oi 1 330

B

shows the bonds formed between atoms Sy

Method 3 is called the space—filling model gives A0 550m axdy oAl oo gigad pad 3 Zashall
—
a more realistic picture of the relative size and

el b leaity ol S paal dually

arrangement of the atoms in lhe molecule e
Chemists most often use the formula 3 3 Al el alis & Gailiedll adng

. . e lal) sl O D
to write about reactions
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Explain the fctors affedt the properties and uses of organic halides student textbook+ table 2+figure 4 285
What substituted hydrocarbon is used in industry delia o330 () g Sy pngll Gulall L
to make non-stick coatings on pans? ?4.',\,‘11 &) e ikl
.f‘

ethene Ol O A

o\
Tetrafluoroethene Ol gpelh el O

Ethyl butanoate JiY) Oilgilisy O C

Aniline Ok O D
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Define an amines while dassifying it into primary, secondary and tertiary amine

student textbook

Which of the following formulas represents
secondary amine ?

¢ sl ol BEA fall i

(L9 S OV

D (c } B A
CH
H,N NH, —-I-l!’ | i Ilﬂ;lz’
CH3;NCH,CH; CH;3NCH; CH;CH,CH,

é\)\b’ (55)

=
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Use IUPAC rubes bo name aliphatic allames [straight chain, branded)

student textbook+ example! +applications

249-250-251

j —
What is the name of the following hydrocarbon

according to the (IUPAC) system?

Z B Ul s

?('UPAC) allal o ‘,.’m\ 0980 gl aul L

1 \ 4 "
\CH; CHz CH-CH-CH; CH-CH, )

AN

|
CH
”}

IQ|

CH;,-CT-D
2

4,6,7-trimethylnonane g e ST 6 ¢ 4 (a
3.4,6-trimethyinonane g Jlua SN R @
2-propyl-4,5-dimethylheptane m G =S¢ 4 —Uug 2 (c
6-propyl-3,4-dimethylheptane EQJM SE 43 U6 (d
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Draw the struciure of cydoalkanes given its ITPAC name Exmh 2+ Anjliuﬂnns
What 15 the correct structural formula for the N S Al ) il L

following cycloalkane?

(1-ethyl -2, 4,5 -trimethyl cyclohexane) (Al i B 0 = 5 ¢ 2= 1)

4 —— < e
X X K ()
AN 77\ 7 AN
CHCH CH,CH CH CH CH CH
e O k|
]
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Explain physical properties of alkanes

student textbook+ table 4

Which of the following 1s a property of alkanes?
A - all the alkanes bonds are polar

B - Soluble n water

C - They forms hydrogen bonds among each other

D - Have a low chemical reactivity

SV jaliad e L



Akram Elbehiri
Pencil


Akramelbehiri.com 0505134521 gl aSi [a I Juadl) adiia e AU plaS A md Zigal
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oompare the properties of alkenes and alkyors with those of alkane

student textbook+ table 5

Why are alkenes more reactive than alkanes?

A — Because the second covalentbond decreases the

electron density between the doublebond carbons

B - Becausethesecond covalent bond increases the

electron density between the double bond carbons

C - Because they are saturated hydrocarbons
D — Because the reactants cannot pull the electrons

away from the doublebond

CUISH e Solit ST LS sl 130
i
ol dpaaliall ddagl 0 oY - A
Al A Hl) (3 S S0 O
4z Jﬁ}ﬁjﬁlml dpaaloall day ) oY (@
Al Adal I G S S0 O
%Hﬁyﬁum W -C
i.."l.hr_ uhjml l._uu...l.i.lfm.Y aleling) .J‘U..JI ‘J‘f
400 4dayl ) e

@Jﬂ}'l 4415l
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» IUPAC 2218 Lisiiocs SLENY ey Byl + ol it el 258258
What is the name the compound with the following Al A1 AU sl 33 Sl add La

structural formulausing IUPAC rules? SIUPAC *\ 4

A —6—ethyl -2, 2 dimethyl —3- heptyne %{—3—#&-‘4—‘-‘-’5—2 (2-J84-6 -A

B-2.,2.6-trimethyl - 3- octyne OASsi—3— Jie S0 622 B

C-3,7.7-trimethyl - 5- octyne Ol —5— Jde - 7¢7¢3 -C

D — 2 ethyl— 6 .6 - dimethyl — 4 - heptyne ;sfé~4—¢=,-.,m~6ss-¢u~z -D
>

(2 \D) G-~ =G0 -6 (0c o
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Use IUPAC system Lo name the aromatic compounds

student texthook+Example 4+ Applications

268-289

Using IUPAC rules, what is the name of the following aromatic TSl a1 S el o LIUPAC Al sel gl Lasdii,
compound?
A
I
o S 8
6 4 '*.I%
_ =
| 1-ethyl-2 4-dimethylbenzene | Oy O a2+ Sl -1
4-ethyl-1,3-dimethylbenzene i e 301 Jlg K
| 2-ethyl-1,5-dimethylbenzene Cot iy e (A5 Jaul-2 }{'
1-ethyl-4,6-dimethylbenzene O iy a -G48~ - 1 X
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Write the IUPAC name of alkyl halides ami aryl halides

284

student textbook+ Applications

What is the name of the following compound according to

N
Bp

the (IUPAC) system?

¢(IUPAC) ol iz Tl Lyl ol Le

e
| 2] 3 N
[ CH,CHCH,CHCH,CH,

2

1 = chiore = 2 = Fluoro — 4 — bromo hexane

JL&J‘JJE_'J'_J.-L-'H_ l—j_u-is—l

4 — bromo - 1 — chloro — 2 — Fluoro hexane

. Y

~— D . (6
ks S 2- 1 - e 4 [
PR —_—

6 — chioro — 3 — bromo - 5 — Fluoro haxane

e 3= 5 = gean=3- 456

3 = bromg —6 — chloro = 5 = Fluoro hexane

(d

Shh g - 5 46— 3
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14

e b 0 ol o e | sy ARy Rl 301 8 pach s g Gty S . ool o a3

Compare and contrast properiies of ether and alcohol of similar size :nliluan{\'ll!:lli.i'l[}'.'hu'limgpuinl..mluhilil.y in water) stusdant toxtbook+ ﬂqum?+tahle 5

288-285-290

even though their molecular mass are equal?

Why does ethanol CHz-CH;-OH have a much higher | (b je x5 e JLE 45 52 CH3-CHp-OH Jsiad! clliy 1L
boiling point than dimethy! ether CH3-0-CH3 $u gl Ay jall Lag B () a2 1 le CH3-0-CHy A Joia

In ethanol, hydrogen atoms are directly bonded to oxygen atom

JoY) B CoaaS] 33 fa B puiipa Alal pa (o g 00 Sl 4»,(3‘“

i e a0 il I U ki O

Because ethanol molecules cannot form hydrogen bonds with each other

(b

angll eany 1 Aun 3300 Sl a}@ﬂ Gy o

Because ether molecules can form hydrogen bonds with each other

(c

PV B a7 e o i 3 el 3,3 3505

Because the oxyveen atom is bonded to two methyl groups in the ether

(d
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15 |DeRne the elimination reaction while writing the equation for some elimination reactions including dehy 298-293
debydration reactions studant textbook
What is the expected product of the following € Al Jelisl a8 gl il e
reaction? ’

C =
CH,CH,CHCH, _ Chehhahi=chy
—_—
o)
CH,CH3CHCH,| * L
A — The compound " 1" "N Sl - A
B - The compound "2', "21" =l -B
| CH,CH.,CH.,CH. -
- The compound " 2 I =L C
C € compou 3 "| 3 }% J 2 4 CH}CH H =CH; @ &
D - The compound " 4" Cl — | 4" <£,d - D
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16 Drefinge addition reaction while writing the equation for some addition reactions indoding hydrogenation, hydration, student textbook+ tabla 12

hivdirahalogenation and halogenation

300-301

What is the expected product of the following ¢ Al Jolisll a8 gall il Le

|

R—CzC—H +2H, ». R Qo D
\.
g_ A A

R—CHa("CHy | * | 2R - CHX CH,

A — The compound " 1" =

B - The compound "2’

C - The compound "3'"| R — CH, — CH, @3 R — CHXCHZ
D - The compound " 4"

"y '?‘5_)‘11-A
11211 ‘.—15_)“‘11-.3
" ogm Ih’ﬁ‘)ah_c

" o4 _‘5)‘]1 @



Akram Elbehiri
Pencil

Akram Elbehiri
Pencil


Akramelbehiri.com 0505134521 ol ash [a QAN Juall) adfia pdie AU slaaS A (el gisad

17

7

iilad SNy SN e IUPAC 51 i Sliglalh +300s + 12U 4 el L el

Use IIPAL rules to name alkenes and eycloalkenes student textbook+ fiqurei2+Applicafions

256-257

¢ (JUPAC) )88 caus dpaniill daaual) ad i) Ayl jedis 4001 40060 dsal) (o

CH3
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281

Write possible structural isomers of alkanes, alkenes and alkynes [Up to six carbon aloms)

student texthook+ fiqure 17

Three of the structural formulas shown in the

oA oL Jgaall 852 ) g ABU apall (e 4535

table below are structural isomers to each Sl Y A Al La ¢ il Lpiae 14500 &l ya g 3l

other. Which formula does not represent

a structural isomer for the other compounds?

f s AV SLS pall Wiy | e 95

("Hz - CH;
CH; -CH,~ CH —C|H—CH3 -~ CHj
CH;

@

("H‘

CH, ~-CH;~ C -CH;-CH; - CH,
|
CH;

g
CH; ~-CH,~CH -(I‘H—CH; - CH,

CH;

(fH;-CH;
CH; -CH;~ CH -CH,-CH, - CH;
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= gty g1 B (e g T (e oA g ) e BAD ey 19518 oS + ol 8 i =
Deeseribe the difference between cs- and trans- i in terms ol it Romers m{ﬂ_hmﬂmﬁ‘lﬂanﬂ!s

Which of the compounds presented in the table below
have geometric isomers?

A - The compound "1” only

B- The Compound "2" only

C - Bothcompounds " 1 "and" 3" only

D - Bothcompounds " 2 "and" 3" only

il _ya g it Al olii (J gaadl & B3 1 gl UK pall 5
¢ dasaia

Ll "] Sl A

e

"3y M1 e el e S8 C

"33 N2 S el e S5 D

Cl H
|
CH3CH,CH= E@.z @C@ﬁ:@@@ H—E—CtI:-H
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Use IUPAC rules to name the alcohol and ethers student textbook+ fiqure 8+table 4 and 5
Using IUPAC rules, what is the name of the following YA oS el all L IUPAC dpans i) g8 Ladilees

compound?

OHOH OH
1,2,3-propanetriol 5 Sgyr3e2i] @@
1,1,1-propanetriol Jasls gy 141l (b
1,2,3-trioxypropane gy ooyl 283021 (c
1.2,3-triglycerol g pessla ..,.tx.'v-.'hlnl (d
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e Dlaa 4 Sl
Why ethers are generally more volatile and have much JH e i 3y el AL Yo Y1 0 S0
lower boiling points than alcohols of similar size and faaadly Adjadialicl 3 gl 4 gladdl SV sl (s
mass?
A -Reason" 1" only SRt - A
B -Reason" 2" only L) ewd - B
C-Reasons" 1" and " 2" together Le"2 s M1 - C
= " " . N
D - Reasons' 3" and " 4" together G 4"y M3 Sl
Explanation s "";
N e : N
(o eS1 55 aa Aal o g S B3 g
Because ethers have hydrogen atoms bonded to the oxygen atom X
ovv Jre—em 1»;}%; O O WG Y S N
Because ether molecules can forin hydrogen bonds with each other X
N\
B i g e S kY. S D), L
Because ethers have no hydrogen atoms bonded to the oxygen atom 3 )/
el ey oy A g il g 085 O S Y Y S e DY )//
Because ether molecules cannot form hydrogen bonds with each other 4
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Which of the following Esters results from a condensation
reaction between
1-Propanol and Ethanoic acid?
A- "1"
e
G g

D- "4" 0 \}&2{,\

n s
| ; @b
CH;-C-0 B (H-C¢10
VT
)
0 \ 0 =
Il
CH)CH)CH)C - 0 CH]— C - Ol‘ CH] }<

1
1 D
"2".B
"3n_C
"4".D
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